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Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra’'s MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJPs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena's constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key player in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Rebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance is very clear. The
rajyvapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The word meddle refers to:

(1) Mediator, who brings about an agreement.
(2) Medial, that is situated in middle.
(3) One who interferes that is not one’s concern.

(4) Meek, one whao is gentle.

Options :

92090626401. 1
92090626402. 2
92090626403. 3
92090626404. 4

Question Number : 2 Question Id : 9209066681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090626405. 1
92090626406. 2
92090626407. 3
92090626408. 4

Question Number : 3 Question Id : 9209066682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements read the following statements:

Statement [ : A floor test is not the platform to resolve interparty dispute.

Statement 11 : The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I1 are incorrect

(3 Statement [ is true but Statement I1 is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090626409. 1
92090626410. 2
92090626411. 3
92090626412. 4

Question Number : 4 Question Id : 9209066683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090626413. 1
92090626414. 2
92090626415. 3
92090626416. 4



Question Number : 5 Question Id : 9209066684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B} relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(DD based on such reasoning which were denying the truth by asserting the opposite.

(1) (A), (B)
(2) (B), (C)
(3) (A), (C)
(4) (B). (D)

Options :

92090626417. 1
92090626418. 2
92090626419. 3
92090626420. 4
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Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJFs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key playver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other ecritical actor in defection i1s the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC’'s stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3) One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090626401. 1
92090626402. 2



92090626403. 3
92090626404. 4

Question Number : 2 Question Id : 9209066681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090626405. 1
92090626406. 2
92090626407. 3
92090626408. 4

Question Number : 3 Question Id : 9209066682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement I : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090626409. 1
92090626410. 2
92090626411. 3
92090626412. 4

Question Number : 4 Question Id : 9209066683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090626413. 1
92090626414. 2
92090626415. 3
92090626416. 4

Question Number : 5 Question Id : 9209066684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B) relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D) based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (C)
(3) (A). (C)
(4) (B), (D)

Options :

92090626417. 1
92090626418. 2
92090626419. 3
92090626420. 4

Sub-Section Number : 2
Sub-Section Id : 920906214
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209066685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Your behavior is not cricket means you have not behaved

(1) in intelligent manner
(2) in an honourble way

(3 As a dark horse

(4) 1n 4 couragious manner.
Options :

92090626421. 1

92090626422. 2

92090626423. 3

92090626424. 4

Question Number : 6 Question Id : 9209066685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner

(2) in an honourble way

(3) As a dark horse

(4) in & couragious manner.
Options :

92090626421. 1
92090626422. 2
92090626423. 3
92090626424. 4

Question Number : 7 Question Id : 9209066686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT" 1s:

(1 Grant
(2)  Agree
(3) Permit
i(4) Accept
Options :

92090626425. 1
92090626426. 2
92090626427. 3
92090626428. 4

Question Number : 7 Question Id : 9209066686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept
Options :

92090626425. 1
92090626426. 2
92090626427. 3



92090626428. 4

Question Number : 8 Question Id : 9209066687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE” is:

1) Donation
2) Support

(
(
(3 Espionage
(4) Beneficiary
Options :
92090626429. 1
92090626430. 2
92090626431. 3

92090626432. 4

Question Number : 8 Question Id : 9209066687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

1) Donation

(

(2) Support
(3) Espionage
(

4) Beneficiary
Options :
92090626429. 1
92090626430. 2

92090626431. 3
92090626432. 4

Question Number : 9 Question Id : 9209066688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
{2) A majority of students believe that the examinations have been necessary.
(3) A majority of students helieve that the examinations are being necessary.
(4) No improvement.

Options :

92090626433. 1
92090626434. 2
92090626435. 3
92090626436. 4

Question Number : 9 Question Id : 9209066688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
(4) No improvement.

Options :

92090626433. 1
92090626434. 2
92090626435. 3
92090626436. 4

Question Number : 10 Question Id : 9209066689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1 Wheel lock (2)  Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090626437. 1



92090626438. 2
92090626439. 3
92090626440. 4

Question Number : 10 Question Id : 9209066689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1) Wheel lock (2) Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090626437. 1
92090626438. 2
92090626439. 3
92090626440. 4

Question Number : 11 Question Id : 9209066690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money invested on simple intrest at 15% per annual fetched Hs 10,350 as
intrest in 3 yvears find the sum invested

(1) Rs.22800
(2) Rs.23000
(3) Rs.24000
(4) Rs.24500

Options :

92090626441. 1
92090626442. 2
92090626443. 3
92090626444. 4

Question Number : 11 Question Id : 9209066690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10,350 as
intrest in 3 vears find the sum invested

1) Rs.22800

2) R=.23000

3 Rs.24000

1) Rs.24500

o

(
(
(
(

Options :

92090626441. 1
92090626442. 2
92090626443. 3
92090626444. 4

Question Number : 12 Question Id : 9209066691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much vthe water level increases?

(1) 25em
(2Z) 22 Hem
(3) 22em
(d) 21 8cm

Options :

92090626445. 1
92090626446. 2
92090626447. 3
92090626448. 4

Question Number : 12 Question Id : 9209066691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
BOcm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 25cm
(2) 22 5em
(3) 22em
(4) 21.8Bem
Options :

92090626445. 1
92090626446. 2
92090626447. 3
92090626448. 4

Question Number : 13 Question Id : 9209066692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs. 42000. After 2 month Reena joined her by
investing Hs. 35000. Profit at the end of 10 month was Rs.315% Heena's share in the profit
(in Rs.) is;

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090626449. 1
92090626450. 2
92090626451. 3
92090626452. 4

Question Number : 13 Question Id : 9209066692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs, 42000. After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Bs.) is:

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090626449. 1



92090626450. 2
92090626451. 3
92090626452. 4

Question Number : 14 Question Id : 9209066693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024724243 = x2+5

(1) 21 (2)
(3) 23 (4)

]
b2

[ ]
T

Options :

92090626453. 1
92090626454. 2
92090626455. 3
92090626456. 4

Question Number : 14 Question Id : 9209066693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024+74243° = x24+5

(1) 21 (2)

2
(3) 23 (4) 2

frd

Options :

92090626453. 1
92090626454. 2
92090626455. 3
92090626456. 4

Question Number : 15 Question Id : 9209066694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 1% times of the previous speed then in how many days will he

cover 540km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090626457.
92090626458.
92090626459.
92090626460.

N O R O R

Question Number : 15 Question Id : 9209066694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 'I% times of the previous speed then in how many days will he

cover 840km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090626457.
92090626458.
92090626459.
92090626460.

N O R S R

Question Number : 16 Question Id : 9209066695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

(1) Grandfather
(2) Father

(3 Uncle

(

4) Brother- in- low

Options :



92090626461. 1
92090626462. 2
92090626463. 3
92090626464. 4

Question Number : 16 Question Id : 9209066695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Havi?

(1) Grandfather
(2) Father
(3 Uncle

(

4) Brother- in- low

Options :

92090626461. 1
92090626462. 2
92090626463. 3
92090626464. 4

Question Number : 17 Question Id : 9209066696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090626465. 1
92090626466. 2
92090626467. 3
92090626468. 4

Question Number : 17 Question Id : 9209066696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090626465. 1
92090626466. 2
92090626467. 3
92090626468. 4

Question Number : 18 Question Id : 9209066697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(Z) 487
(3) 471
(4) 474
Options :

92090626469. 1



92090626470. 2
92090626471. 3
92090626472. 4

Question Number : 18 Question Id : 9209066697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(2) 487
(3) 471
(4) 474

Options :

92090626469. 1
92090626470. 2
92090626471. 3
92090626472. 4

Question Number : 19 Question Id : 9209066698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Agsumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six years of age.

(1) Only assumption I iz implicit.
(2 Only assumption Il is implicit.
(3 Either I or 11 is implicit.

(4) MNeither | or I is implicit.

Options :

92090626473. 1
92090626474. 2
92090626475. 3
92090626476. 4



Question Number : 19 Question Id : 9209066698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - It is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[1. The schools do not admit children after six yvears of age.
(1) Only assumption I iz implicit.
(2) Only assumption 1 is implicit.
(3) Either I or Il is implicit.
4 Meither I or 11 is implicit.

Options :

92090626473. 1
92090626474. 2
92090626475. 3
92090626476. 4

Question Number : 20 Question Id : 9209066699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090626477. 1
92090626478. 2
92090626479. 3
92090626480. 4

Question Number : 20 Question Id : 9209066699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090626477. 1
92090626478. 2
92090626479. 3
92090626480. 4

Question Number : 21 Question Id : 9209066700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I List I1
Term Deal with
{A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (III) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(IV), (C)-(1), (D)-(I1I)
(2) (A)-(IID), (B)-AV), (C)-(I), (D)-(1I)
( )-
( )-

i

3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I1I)
4) (A)-(1I), (B)-(IV), (C)-(I1T), (D)-(I)

Options :

92090626481. 1
92090626482. 2
92090626483. 3
92090626484. 4

Question Number : 21 Question Id : 9209066700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (IIT) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(IV), (C)-(1), (D)-(I1L)
(2 (A4)-(IID), (B)-(IV), (C)-(I), (D)-(1T)
(3 (A)-(IV). (B)-(ID), (C)-(I). (D)-(I1T)
(4) (A)-(1I), (B)-(IV), (C)-(I1I), (D)-(T)

Tt

Options :

92090626481. 1
92090626482. 2
92090626483. 3
92090626484. 4

Question Number : 22 Question Id : 9209066701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090626485. 1
92090626486. 2
92090626487. 3
92090626488. 4

Question Number : 22 Question Id : 9209066701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090626485. 1
92090626486. 2
92090626487. 3
92090626488. 4

Question Number : 23 Question Id : 9209066702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090626489. 1
92090626490. 2
92090626491. 3
92090626492. 4

Question Number : 23 Question Id : 9209066702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1)  (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090626489. 1
92090626490. 2
92090626491. 3
92090626492. 4

Question Number : 24 Question Id : 9209066703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090626493. 1
92090626494. 2
92090626495. 3
92090626496. 4

Question Number : 24 Question Id : 9209066703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090626493. 1
92090626494. 2
92090626495. 3
92090626496. 4

Question Number : 25 Question Id : 9209066704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article S1-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement [ is true but Statement 11 iz incorrect

(4) Statement [ is false but Statement I1 is correct
Options :

92090626497. 1
92090626498. 2
92090626499. 3
92090626500. 4



Question Number : 25 Question Id : 9209066704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [ are correct
(2) Both Statement I and Statement I are incorrect
(3 Statement [ is true but Statement 11 is incorrect
(4) Statement [ is false but Statement II is correct

Options :

92090626497. 1
92090626498. 2
92090626499. 3
92090626500. 4

Part B: Plastic Arts

Section Id : 920906134
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 920906215
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209066705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following are clay bodies?
(A) Porcelain
(B) Bentonite
{C)  White Earthenware
(D)  Bone China

(E) Grog

Choose the correct anawer from the options given below :

(1) (A), (B) and (E) only (2) (B}, (C) and (E) only
(3 (A), (B) and (C) only (4)  {A), (C) and (D) only

Options :

92090626501. 1
92090626502. 2
92090626503. 3
92090626504. 4

Question Number : 26 Question Id : 9209066705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofifed # @ 14 giie Sear uE §?
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Options :

92090626501. 1
92090626502. 2
92090626503. 3
92090626504. 4

feu T fawedi § W Wel IR &1 999 Pifor

Question Number : 27 Question Id : 9209066706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

(A)
(B)
(C)
()

Liat I
Kiln
Wedging
Potter's wheel

Rolling pin

Last II
(I} Clay slab
(ITy Baking
(II) Throwing
(IV) Preparation of clay

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(T), (B)-(IID), (C)-(IV). (D)-(1L)
(A)-(IV), (B)-(I1I), (C)-(I), (D)-(IT}
(A)-(ID), (B)-(IV), (C)-(11D), (D)-(I)
(A)-(IIL, (B)-(D, (C)-(IT), (D)-(IV)

Options :



92090626505. 1
92090626506. 2
92090626507. 3
92090626508. 4

Question Number : 27 Question Id : 9209066706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i | & Ty gl 1| 1 e Sifeg

et T -
(A) Mgl o TSt @ ufean
(B) WhHl/g=R @ () OB
(€) PR &1 YRl iy &qo
(D) Sl av) et SaR A
Hid fau Tt fadhedi § 9§ Tel 3T &1 944 DI
(1) (A0, (B)-(ID, (O)-(), (D)-(11)
) (A)-(V), (B)-(1I1), (©)-(1), (D)-(II)
(3) (A1), (B)-(V), (O)-(1), (D)-(1)
(4) (A1), (B)-(1), (O)-(11), (D)-(IV)
Options :

92090626505. 1
92090626506. 2
92090626507. 3
92090626508. 4

Question Number : 28 Question Id : 9209066707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The warm reddish colour of Red Earthernware comes from which of the following contents?

(1) Cupric Nitrate (2) Sodium Oxide
(3) Iron Oxide (4) Lead Nitrate
Options :

92090626509. 1
92090626510. 2
92090626511. 3



92090626512. 4

Question Number : 28 Question Id : 9209066707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fofeiad & 4 fod sradsg & SR TGy gervist I 7 dred 31 11 87

(1) FU® AR ) Wfsad RIS
(3) SIS AEES (4) WS

Options :

92090626509. 1
92090626510. 2
92090626511. 3
92090626512. 4

Question Number : 29 Question Id : 9209066708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as

Reason (R) :

Aszsertion (A) : Wedging 1z the technique that helps to achieve uniform consistency of clay
and enhances its plasticity.

Reasons (R) - The continual cutting and slamming eliminate lumps, inconsistences and

air bubbles.

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(3 (A) iz correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :
92090626513. 1



92090626514. 2
92090626515. 3
92090626516. 4

Question Number : 29 Question Id : 9209066708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 1 Sy QT MU § U SHHBUA (Assertion A) & FU  H fifdd & O gIRT 39D BRUI
{Reason R}%F‘:[ 'Ef;

HUBYT A :  HH/TER T 98 b g fored [He] B TR i &9l & 3R IqD1
geedd dgdl ol

HRUIR: AR HIeA 3R ged- U gl & sieX & od, SRITaasi ¢k ga1 & gaqgd
YA B Sl & 1

SR HY9 & 3Meid H, g AU e fadbedi # 9 99 Iugad IR &1 994 Hifoe

(1) ASRREH TSI § 3R R A DI UE RS &

(2 ASIRRGH Hel g, A R, A DI &l AT ol &
(3) AWEIE AMPTRUG TS

(4 AWITIC APTRIS

Options :

92090626513. 1
92090626514. 2
92090626515. 3
92090626516. 4

Question Number : 30 Question Id : 9209066709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Content of sand in elay enhances the of the clay.

(1) Plasticity (2) Casting utility

(3 Porosity (4) Strength
Options :

92090626517. 1
92090626518. 2
92090626519. 3



92090626520. 4

Question Number : 30 Question Id : 9209066709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1t & I 1 AEr | g gagdi gl

(1) gl (2) oo IUgifia
(3) Tal 4) e
Options :

92090626517. 1
92090626518. 2
92090626519. 3
92090626520. 4

Question Number : 31 Question Id : 9209066710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the use if Rug Mill?

(1} For storing clay (2) For preparation of glaze
(3) For preparation of clay (4) For throwing a pot
Options :

92090626521. 1
92090626522. 2
92090626523. 3
92090626524. 4

Question Number : 31 Question Id : 9209066710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRI-Fab] (GITHE) &1 1 SUgI 87

(1) g & visrRu & e (2) THD TR B & ferg
3) ot areE & fou (4) ¥ & auu F ferg



Options :

92090626521. 1
92090626522. 2
92090626523. 3
92090626524. 4

Question Number : 32 Question Id : 9209066711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of clay preparation for clay modeling :
(A)  Spread the clay slowly into P.O.P. pit and leave it to achieve the required state of clay.
(B)  Mix the clay with water to achieve a slurry
(C)  Waedge the clay
(D)  Filter the clay slurry throw a sieve

(E) Break down the dry clay into small pieces

Choose the correct answer from the options given below :

(1)  (A), (B), (C), (D), (E) (2) (E), (A), (B), (D), (C)
(3)  (E). (B), (D), (A). (C) (4) (A), (E), (C), (D), (B)
Options :

92090626525. 1
92090626526. 2
92090626527. 3
92090626528. 4

Question Number : 32 Question Id : 9209066711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gRue-ufereaul/gfd e & e gRist TaR &3 & gl HH &1 gA1d Sifort|

A. g @t spfiy g3 UM & fore Mgt & TR &1 @i, gi A | hara 81 &
B. Wl url etz TRY &1

c. gl ¥ wH/a=R @

D. {dl Tl R TR B STADH BT

E.  gdl [Agl &1 B1-8I¢ sl 7 disl
19 fau o fasedi § 9 el ST &1 994 Hifoe -

(1) ABCDE
(2) E,A B D,C
(3) E.B.DAC
4 AECDB
Options :
92090626525. 1
92090626526. 2

92090626527 3
92090626528. 4

Question Number : 33 Question Id : 9209066712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement 1 : Grog 1s the clay that has been fired and ground up.

Statement 11 : Grog has the capacity of bearing high temperature during firing.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are ineorrect
(3 Statement I 15 true but statement 11 1s false

(4) Statement [ 15 falze but statement II 15 true

Options :
92090626529. 1
92090626530. 2



92090626531. 3
92090626532. 4

Question Number : 33 Question Id : 9209066712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACAIE ATk LR

HYF | - THYRISE/AT a8 gl @ 58 usman 1 g SfR g T g |
HY || - UHYRIS1/AT Usdad & 99 $a1 dlIaH Jg4 i & 36! g
IR HYF & 3 |, 71 fou M 9t 7 § gt 3] 9 $ife

(1)  HYFINRNETH g

(2) @Y1 3R 1 SHI T §

(3) YT HA T, Alh YA 1l SA
(4) HUTI T E, AT HUT I AT

Options :

92090626529. 1
92090626530. 2
92090626531. 3
92090626532. 4

Question Number : 34 Question Id : 9209066713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other 13 labelled as

Reason (R) ¢

Assertion (A) :  Clay, always a mixture of minerals, 15 basically the natural result of

decomposition, usually of Igneous rocks and granite.

Reasons (R) : A mixture of clay or a mixture of clays with other ceramic materials is

referred to as a clay body.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) {A) 15 true but (R) is false

(4) {A) 15 false but (R) 18 true

Options :

92090626533. 1
92090626534. 2
92090626535. 3
92090626536. 4

Question Number : 34 Question Id : 9209066713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(Reason R) @ &0 T
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Options :



92090626533. 1
92090626534. 2
92090626535. 3
92090626536. 4

Question Number : 35 Question Id : 9209066714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One can slow down the setting speed of plaster of paris by adding
(A) Citric acid
(B) Gene
(C) Hot water

(D Cold water

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only (2) (B), (C) and (D) only
(3) (C), (D) and (A) only (4) (D), (A) and (B) only
Options :

92090626537. 1
92090626538. 2
92090626539. 3
92090626540. 4

Question Number : 35 Question Id : 9209066714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4) &dd A C,D
Options :

92090626537. 1
92090626538. 2
92090626539. 3
92090626540. 4

Question Number : 36 Question Id : 9209066715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the correct sequence of ereating a sculpture in plaster using direct process?
(A) Cover the whole armature with jute sacks, socked in plaster,
(B) Create an armature.
(C) Use scrapping tools to get desired form
(D) Apply shellac coat to seal the plaster

(E) Add plaster with fingers and modeling tools to achieve the form

Choose the correct answer from the options given below :

(1y (&), (C). (E), (B), (D) (2)  (B), (A), (E), (C), (D)
(3 (C), (B), (A). (E), (D) (4) (D), (E), (B), (A). (C)

Options :

92090626541. 1
92090626542. 2
92090626543. 3



92090626544. 4

Question Number : 36 Question Id : 9209066715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el wiehan o1 UaIN $¥d gU Uerar I Afd fRIeq 1TgA &1 gl HH 1 gRI?
A, Ul g Bl YawR § g4 O & aRi 9 g ol

B. Ud eIl

C. BIa/GE ad e’ &1 Hag I SUfad T W S

D. Ud&R & dc H & ot @ &1 yudt &l Wd Iern

E onfiy S uurd &3 & o Jufedi ok gid-T1ea & SRl ¥ UarkR FgHl
12 fau M fasedl # ¥ TSl IR H1 90 Hiforg -

(1) dd A CEBD
(2) &dd B,AECD
(3) @&dd C,B A ED
(4) &dd D,E B A C

Options :

92090626541. 1
92090626542. 2
92090626543. 3
92090626544. 4

Question Number : 37 Question Id : 9209066716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Portland cement is made by heating and grounding

(1) Calcium Carbide (2) Calecium Aluminium Silicate
(3 Caleium Sulphate (4) Calcium Carbonte
Options :

92090626545. 1
92090626546. 2
92090626547. 3
92090626548. 4



Question Number : 37 Question Id : 9209066716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Urdeie WA= fba die &1 T B SiR 4 | ST Ol 82

(1)  Hicirgd Sralzs (2) Hickran vegffam Rifede
(3) PickH gethe (4) BicRgH FEFT
Options :

92090626545. 1
92090626546. 2
92090626547. 3
92090626548. 4

Question Number : 38 Question Id : 9209066717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Plaster of paris 18 made by heating gypsum at

(1} 150°F (2) 350°F
(3)y  250°F (4) 750°F
Options :

92090626549. 1
92090626550. 2
92090626551. 3
92090626552. 4

Question Number : 38 Question Id : 9209066717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forean &1 fog argwTE R T S WRe 36 UTE ST WId] 87

(1 1500 % e REE (2) 350° 'ZF;IFEEE
(3) 250° BIRISC (4) 750° 'IIT;IQQEEE
Options :

92090626549. 1
92090626550. 2
92090626551. 3



92090626552. 4

Question Number : 39 Question Id : 9209066718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The setting speed of plaster of paris can be accelerated by adding

(1) Acidie acmd 2) Cold water
(3 Salt 4y Glue
Options :

92090626553. 1
92090626554. 2
92090626555. 3
92090626556. 4

Question Number : 39 Question Id : 9209066718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRER 3110 U & o= &1 ufchan &1 g firemes o fdan s webdr 22

(1) uRiee ufys 2) SSTUF
(3) WD (4) W9
Options :

92090626553. 1
92090626554. 2
92090626555. 3
92090626556. 4

Question Number : 40 Question Id : 9209066719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1:

Lisat [ List I1
(A) Ciment fondu (I} Grey cement
(B} Plaster of paris (I} White cement
(Y Portland cement (IIT} Hydrated caleium sulphate
(D) Gypsum (IV) Caleium sulphate hemi hydrate

Choose the correct answer from the options given below:

(1) (A)(ID), (B)-(I), (C)-(I1L), (D)-(IV)
(2 Ay (B)-(IV), (C)-(1I), (D)-(II)
3 (A-IV), (B)-(ID), (C)-(I), (D)-(I1I)
(4} (A)-(IID), (B)-(II), (C)-(IV), (D)-(1)

Options :

92090626557. 1
92090626558. 2
92090626559. 3
92090626560. 4

Question Number : 40 Question Id : 9209066719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | b |1y Gl 1| b1 T Hifeg

- Tt -
(A) HHCBRg 1y HRIHEe
(8) WY 36 Uy () g HiHe
€ Udds dine () TIZSIeS Hicdrad Hethe
) fomam (V) BT Getbe e gBac
i feu U fawedl & ¥ Tel 3T &1 994 Dife
(1) (A)-(), (B)-(1), (C)-(11), (D)-(IV)
(2) (A, (B)-(IV), (Q)-(1D), (D)-(11)
(3)  (A)-(V), (B)-(IN), (C)-(1), (D)-(H)
(4) (A=), (B)-(IN), (C)-(IV), (D)-(I)
Options :

92090626557. 1
92090626558. 2



92090626559. 3
92090626560. 4

Question Number : 41 Question Id : 9209066720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choosze the plastic group to which Polvester Resin belongs to :

(1) Thermosetting Plastic group (2) Gel Polvester group
() Thermoplastic Plastic group (4) Gel Plastie group
Options :

92090626561. 1
92090626562. 2
92090626563. 3
92090626564. 4

Question Number : 41 Question Id : 9209066720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifeeeR IoF () Fafaiea ¥ 9 e wied S5 o ST g2

(1) dU-¢ W I8 (2) id GIfeeE gug
(3) dY-gucd WIRed g (4) od @D GHg
Options :

92090626561. 1
92090626562. 2
92090626563. 3
92090626564. 4

Question Number : 42 Question Id : 9209066721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List the materials which are used with polyvester resin during the process of glass fiber
casting

(A) Marble dust
(B)  Cobalt

() Acetone

(I Catalyst

(E) French powder

Choose the correct answer from the options given below :

(1) (A), (B). (C), (D) only 2y (B), (C), (I, (E) only
(3) (A), (B), (D), (E) only (4) (C), (E), (D), (A) only

Options :

92090626565. 1
92090626566. 2
92090626567. 3
92090626568. 4

Question Number : 42 Question Id : 9209066721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁiﬂ-gﬁﬂﬁﬁﬁﬂﬂﬂﬁ@ﬂﬁfﬁf@?ﬁﬂ%ﬁmﬁaﬂ@lmmﬁwm
EIGIGE

A, HITHTER &1 g0

B. @Il

C. TUReH

D. JdR®

E. hisiE guf

1< fau e fashedt # ¥ Tel I &1 984 FifoL -
(1) @dd A B CD

(2) &dd B,C,D,E

(3) &dd A B D,E

(4) &dd C ED,A

Options :



92090626565. 1
92090626566. 2
92090626567. 3
92090626568. 4

Question Number : 43 Question Id : 9209066722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of doing fiber casting :

(A)  Owerlap the stripes of fiber glass matting and apply more resin onto the matting,
repeat the process twice.

(B} Apply releasing agent in the mould.

(C)  Join mould by applying a thick bead of resin along the slam of the cast and leave it for

rest.
(D) Apply the gel coat of polyvester resin onto the interior surface of the mould.

(E) Chap off the mould of plaster and repair where the joint is inadequate.

Choose the correct answer from the options given below :

1y  (A), (D), (B), (E), (C) (2) (D), (A), (B), (C), (E) only
3 (C), (A), (D), (B), (E) only (4) (B), (D), (A), (C), (E) only
Options :

92090626569. 1
92090626570. 2
92090626571. 3
92090626572. 4

Question Number : 43 Question Id : 9209066722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d=d-gdls ®HId GG HTH ST ! HH 31 I?

A, Pig-d<] DI 918 DI Ul B UH gW & HUR WIHI, dels W 3R s IWoF 1 Id
ST, TfshaT 1 &1 IR g3l

B. ¥ H Fulfa® HR® &1 UdF &l
C: gﬁﬂm%ﬁgﬁﬂ%ﬁﬁmﬁqmmﬁmmwmﬁﬁ%ﬁﬁﬁtmﬁw@ﬁﬁ
|

D. WP A<EA Tdg W UIfeiuee? Id &1 oel Ud T
. TWReI & Hid &I HIed e BT 3R oel oils uaied = 81 981 &1 Ad S|
12 fou e fawedi @ 9 98l Itk &1 994 Hiforg :

(1) ABDEC
(20 B,ABCE
(3) CADBE
4 B,DACE

Options :

92090626569. 1
92090626570. 2
92090626571. 3
92090626572. 4

Question Number : 44 Question Id : 9209066723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1= the second name of hardener used in glass fiber casting?

(1) Cobalt 2) Ethanol
(3) Catalyst (4) Acytone
Options :

92090626573. 1
92090626574. 2
92090626575. 3
92090626576. 4

Question Number : 44 Question Id : 9209066723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BId-adq DI eals § UG TolPRS B gul ATH T2

(1) ®dlee (2) YA
(3) JoR® (4) UREeE
Options :

92090626573. 1
92090626574. 2
92090626575. 3
92090626576. 4

Question Number : 45 Question Id : 9209066724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : In fiber easting Cobalt Napthanate 1z used as accelerator in polyester resin.

Statement 11 : In fiber easting Cobalt Napthanate 1s used as hardener for polyester resin.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement I1 are false
(3 Statement [ 1s true but statement 1T 15 falze

(4) Statement I 15 falze but statement I1 15 true

Options :

92090626577. 1
92090626578. 2
92090626579. 3
92090626580. 4

Question Number : 45 Question Id : 9209066724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ha g1 dya R u &
HYF| - dg-eds H Dialee 9L BT TN Uiy Id § @id & &4 1 fea1 arar g

$Hﬂ|l:ﬂﬁ—%ﬁ[§ﬁﬂﬁﬁﬁfﬁ@#€ﬁmmmﬁimﬁimﬁm
EIGIE

IWIad HYA & faid H At fGu U fasedi # 9 Hel Il 994 $ifuiw

(1) SYTISRISHI T g

(2) YT SR I GHI T B

(3) Y| A g, Alh HYUA Il 3 8
(4) DY EY B, AT FUA I T B

Options :

92090626577. 1
92090626578. 2
92090626579. 3
92090626580. 4

Question Number : 46 Question Id : 9209066725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyester Resin which is used in glass fiber casting is a by product of :

(1) Acrylic 2y 0l
(3 Shellac (4) Gum tree
Options :

92090626581. 1
92090626582. 2
92090626583. 3
92090626584. 4

Question Number : 46 Question Id : 9209066725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hid-a-q ®I eals § TGN g are UifeiweR 39 e 3u-3de 87
(1)  Ulchfere (2) dd
(3) TGPl UuSl (4) Tiic 1 gaf

Options :

92090626581. 1
92090626582. 2
92090626583. 3
92090626584. 4

Question Number : 47 Question Id : 9209066726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of creating a sculptured by wood carving :

(A)  Apply polish

(B) Remove the bark from the wood log

(C) Carve out the basic form

(D) use sandpapers, fillers and rasps for finishing

(E) Carve out the details to bring out the desired form.

Choose the correct anawer from the options given below :

(1)  (E). (D), (B), (O), (&) (2) (D), (A). (B), (C), (E)
(3) (A), (C), (D), (E), (B) (4) (B), (C), (E), (D). (&)
Options :

92090626585. 1
92090626586. 2
92090626587. 3
92090626588. 4

Question Number : 47 Question Id : 9209066726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&Y I 1vH I gfd e 11g &1 ufsea § S1af & 98l 1 &1 g4 Do)
A, OIfeI T

B. Tdol & dg U BId gcHl

C. SMYRYd EY Pl Jebifold &l

D. ufvsmvor &1 gRyguiar & fome W, Rt ok X! &1 WA &l
E. onfiy ©UumE dF & e gea faaroll &1 Iaifd &

1< fau U fasmedt # 9 Tel IR 1 904 P

(1) E.D,B C A

(2) D,ABCE

(3) A,C,D,EB

(4) B.C.ED, A

Options :

92090626585. 1
92090626586. 2
92090626587. 3
92090626588. 4

Question Number : 48 Question Id : 9209066727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which tool is used for wood carving?

(1) Bull nose chisel 2y DBush hammer
(3 Claw chisel (4) Mallet
Options :

92090626589. 1
92090626590. 2
92090626591. 3
92090626592. 4

Question Number : 48 Question Id : 9209066727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PIY-Ieb 0 & foru fobw SNSIR &1 Uan g1 &2

(1) g & (2) UM
(3)  Uel/AEid o (4) HRYEWR

Options :

92090626589. 1
92090626590. 2
92090626591. 3
92090626592. 4

Question Number : 49 Question Id : 9209066728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other 1z labelled as
Reason (R) :

Aszsertion (A) : A well seasoned wood 12 the best for carving a sculpture,

Reasons (R) : The use of non-seasoned wood may result into shrinkage and possible

cracking when wood dries,
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

(4) (A) 18 false but (R) is true

Options :

92090626593. 1
92090626594. 2
92090626595. 3
92090626596. 4

Question Number : 49 Question Id : 9209066728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 21 HyA foU MU § U SHBHUA (Assertion A) F FU  H fafEdd & O T 39S BHRUI
(Reason R}%F‘I ff;

AFYT A - fdRey It $31 & T Srst ave Iu=iia/Rigns g3 Jaad gidl g

HRUIR: TR-IUARG a1 fam1 RiSg 715 ddbsl Y@ & a1 e bl ¢ 91 3UH oI
Ug gl g |

SRR FY & 3faie H, 711 v U fadwedl § 9 998 Iugad IR &1 994 Sifon

(1) ASIRREHI Hel € AR R A I el ATET &
(2) ASIRRIHI TEl € dfd- R A B UEl AT T8l &
3) AUSE AfPIRUEAE R
(4) ATSITEIE ABARTE T
Options :
92090626593. 1
92090626594 2

92090626595. 3
92090626596. 4

Question Number : 50 Question Id : 9209066729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : The wedge h as a tapered edge and i1s designed for splitting length of wood

along the grains.

Statement 11 : Wedge should not be too sharp, they part the fiber rather than cut them.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true

(2) Both Statement I and Statement II are false

(3) Statement [ 15 true but statement 11 1s false

(4) Statement [ is false but statement 11 is true
Options :

92090626597. 1
92090626598. 2
92090626599. 3
92090626600. 4



Question Number : 50 Question Id : 9209066729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyafeumUe:

®Y | - BH/TER T HAY: Udal gidl SIdl BRI Edl € SR IUP] i 39 e 1
it & fb a8 @St Bt arars B agieHl & GHFRR faHTiod &

HYA || - BH/TER 9gd o9l el el a6t | d a-qfl &1 e & gu1g 3¢ [da B od ¢l
JRIF HYA & dle H, 1 AU U faF«ai § I 98l IR 994 Sifoe

(1) HYTISR NS I

2)  HYFISR I GHI T §

(3) YT TA §, A YA || 3 8
(4)  HYT| Y g, Alchd SYA 1| T 8

Options :

92090626597. 1
92090626598. 2
92090626599. 3
92090626600. 4

Question Number : 51 Question Id : 9209066730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the name of the artist who has created his artworks mostly in wood.

(1) 5.L. Prashar (2) Bhiv Singh
(3) Ravinder Reddy {4) Pradosh Das Gupta
Options :

92090626601. 1
92090626602. 2
92090626603. 3
92090626604. 4

Question Number : 51 Question Id : 9209066730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HADBR B A Fd13U o 3o ST darpiad] &1y § s &

(1) THUA LR 2 fafie
3) AMder TS (4) VS SR
Options :

92090626601. 1
92090626602. 2
92090626603. 3
92090626604. 4

Question Number : 52 Question Id : 9209066731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which place 1s famous for wood earving?

(1) Jamshedpur (2) Saharanpur
(3) Kanpur (4) Jaipur
Options :

92090626605. 1
92090626606. 2
92090626607. 3
92090626608. 4

Question Number : 52 Question Id : 9209066731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BTY I Hal & 0T HH 91 F UfS 87

(1) SHSER (2) HEeRAR
(3) HEAR (4) WOy
Options :

92090626605. 1
92090626606. 2
92090626607. 3
92090626608. 4



Question Number : 53 Question Id : 9209066732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhainslama, Rajasthan has stone quarry of

(1) Green marble (2} Black marhle
(3) Pink marhle (4) White marble
Options :

92090626609. 1
92090626610. 2
92090626611. 3
92090626612. 4

Question Number : 53 Question Id : 9209066732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N1, TR, by UeR &1 @eH & fow uftg 2

(1) BT (2) I HITHIHR
(3)  Trel THTR (4) g TR
Options :

92090626609. 1
92090626610. 2
92090626611. 3
92090626612. 4

Question Number : 54 Question Id : 9209066733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which stone has porousity in its nature?

(1) Slate (2)  Cornizh granite
(3 Sandstone (4) Karin granite
Options :

92090626613. 1
92090626614. 2
92090626615. 3
92090626616. 4



Question Number : 54 Question Id : 9209066733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ URR &1 Udpfa & IS gl 82

(1) e (2) DI IS
(3) Q3 URR (4) HRA YR
Options :

92090626613. 1
92090626614. 2
92090626615. 3
92090626616. 4

Question Number : 55 Question Id : 9209066734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the metamorphic stone amongst the following :

(1) Slate (2) Cornish granite
(3 Sandstone (4) Slimestone
Options :

92090626617. 1
92090626618. 2
92090626619. 3
92090626620. 4

Question Number : 55 Question Id : 9209066734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # 9 $EiaRd Ter &1 9149 S|

1) we (2) PIFUIABE
(3) HqSf YRR (4) TATGRR
Options :

92090626617. 1



92090626618. 2
92090626619. 3
92090626620. 4

Question Number : 56 Question Id : 9209066735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Abbrasive stones are used for polishing stone sculptures.

Statement 11 : Carborundum papers are used for polishing stone sculptures and to achieve
final smooth surface.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2} Both Statement I and Statement IT are falze
(3) Statement I 15 true but statement 11 1s false
{4) Statement I 15 false but statement II 15 true

Options :

92090626621. 1
92090626622. 2
92090626623. 3
92090626624. 4

Question Number : 56 Question Id : 9209066735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090626621. 1
92090626622. 2

92090626623. 3
92090626624. 4

Question Number : 57 Question Id : 9209066736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1:

List I Last II
(A) Balbir Sing Katt {I'''" Yaksh and Yakshini
(B) Biman Bihari Das (I} Naika
(C)y Constantin Brancusi (IIT) Aswan
(D) Ram Kinker Bajj {IV) The Kiss

Choose the correct answer from the options given below:

1y (A(D), (B)-(I), (C)-(IV), (D)-(II)
2y (A, (B)-(ID), (C)-(IV), (D)-(I)
(3) (A)-(IV), (B)-(11), (C)-(1), (D)-(IIT)
4y (A)-ID, (B)-(D), (C)-(III), (D)-(IV)

Options :
92090626625. 1
92090626626. 2



92090626627. 3
92090626628. 4

Question Number : 57 Question Id : 9209066736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | < T G 1 B e Sifog

- Tt -
A) SdER Rig &g ) g 3R Aeof
@) fauE feedie™ 1y T
(€ wieied sig (i S
(D) M [P aw v) g
i f3u v fasedl | 9 |l IR &1 994 BT
(1) (A)=(1), (B)=(111), (C)-(IV), (D)-(1)
(2) (A)-(1n), (B)-(I1), (C)-(1V), (D)-(1)
(3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(l1)
(4) (A)-=(I1), (B)-(1), (C)-(l1), (D)-(1V)
Options :

92090626625. 1
92090626626. 2
92090626627. 3
92090626628. 4

Question Number : 58 Question Id : 9209066737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of steps followed to create a sculpture to create a sculpture by

stone carving :

(A) Use abrasive stones for finishing the surface.

(B) Clear out the broad area of stone to rough out the basic shape.
(C) Chisel out the details as per the desired form.

(I Level the base side of the stone

(E) use wet-and-dry sandpaper to achieve the finished smooth polished surface.

Choose the correct answer from the options given below :

(1) (D), (B), (C), (A), (E) only (2) (B), (D), (E), (A), (C)
3y (C), (A), (B}, (E), (D) only (4)  (A), (B), (O), (D), (E)
Options :
92090626629. 1
92090626630. 2

92090626631. 3
92090626632 4

Question Number : 58 Question Id : 9209066737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TER-3eh 101 & Hfd-Rreg 18 & fog Fofafad el o1 98l oH | amsul

A.  Hde & URSHRU & AU sfoee gt &1 wanT|

B. SMYR-3IHid Bl HIE IR W IURA & o0 Uk & 1Uw &7 &1 geH|

C. oly & U P TR Y&H [qarur o1 &1 9 I

D. U YR &F DI HAA DA

E Uftsed, R, e &1 g5 Ude Uitd &4 & ol 78 3R e &1 UanT &A1
13 fau mu faseul # @ WEl IR H1 9U Hifere -

(1) DB CAE

2y BBEAC

(3) CABED

(4 ABCDE
Options :



92090626629. 1
92090626630. 2
92090626631. 3
92090626632. 4

Question Number : 59 Question Id : 9209066738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements @ One 13 labelled as Assertion (A) and the other 15 labelled as
Reason (R) :

Agsertion (A) : Metamorphic rocks are created by metamorphosis of i1gneous or

sedimentary rocks.

Reasons (R) : Metamorphic rocks are created by the effects of pressure, great heat or
chemiecal notion on the basie structure of igneous or sedimentary rocks.

In the hight of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 18 true but (R) 1s not false

(4) {A) is false but (R) is true

Options :

92090626633. 1
92090626634. 2
92090626635. 3
92090626636. 4

Question Number : 59 Question Id : 9209066738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i &1 YA 3T U § TP SHHFYT (Assertion A) F EY  H fofad 8 @ THRI ITS HRUI
(Reason R}a‘?%—‘q ff;

AHMFYT A - MY 3R 3AUE! Udl & SR I UihdT 9 Faad 9 a-dl 6 |

PHRUIR: 3T 1 fadrel Aal &l Hayd a1 R a6, 3= a9 91 J9i s s
& UTET I SR @erHiithe) 2l & o g gl

JURIE $YF & 3feiier H, A 30 70 fawedl # ¥ ¥ad Iuge IR &1 994 Difore

(1) ASRRIA GE € 3R R A B UL RS &

(2) AR RGH Tl g, Al R, A DI Tl TR ol ¢
3) ATAE AP RIS TR

(4) AUEITRIE, ABTR UL

Options :

92090626633. 1
92090626634. 2
92090626635. 3
92090626636. 4

Question Number : 60 Question Id : 9209066739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one among the following is a Sedimentary Roek?

(1) Slate (2) Limestone
(3 Marble (4 Karin Granite
Options :

92090626637. 1
92090626638. 2
92090626639. 3
92090626640. 4

Question Number : 60 Question Id : 9209066739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad 7 9 $1F uP aae] 9d 82

(1) e (2) TA-URR
(3) IR (4) HRAIARE

Options :

92090626637. 1
92090626638. 2
92090626639. 3
92090626640. 4

Question Number : 61 Question Id : 9209066740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which tools are used in Stone Carving?
(A) Bullnoses
{(B)  Claw chisel
(C) Wedges
(D} Gauge

(E) Tungsten chisel

Choose the correct answer from the options given below :

(1) (A), (B), (D), (E) only (2)  (A), (C), (D), (B) only
(3) (A, (B), (C), (E) only (4) (B), (C), (D), (E) only

Options :

92090626641. 1
92090626642. 2
92090626643. 3
92090626644. 4

Question Number : 61 Question Id : 9209066740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TE-Jh 101 H o SiieRI &1 IudiT 8Iar 82
A, 99l (g A

B. Uul/A@ERd &l

C. WH/IER

D. HYS

E. SRA @A

i fou U faseul # ¥ Wl IR &1 T4 Sl -
(1) dd A, B,D,E

(2) @dd A CD,B

(3) dd A, B,CE

(4) dd B,CD,E

Options :

92090626641. 1
92090626642 2
92090626643. 3
92090626644. 4

Question Number : 62 Question Id : 9209066741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the generic name for the channel that feeds and vents a mould in any kind of metal

casting?

(1) Rizer (2) Ludo

(3) Core i4) Sprue
Options :

92090626645. 1
92090626646. 2
92090626647. 3
92090626648. 4

Question Number : 62 Question Id : 9209066741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) TZoR/3MRIgH-HIIH (2) g3
3) SRS (4) BATROR
Options :

92090626645. 1
92090626646. 2
92090626647. 3
92090626648. 4

Question Number : 63 Question Id : 9209066742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is used for achieving green coloured patina on bronze surface?

(1) Ferric Nitrate {2) Cupric Nitrate
(3) Barium Sulphide (4) Potassium Sulphide
Options :

92090626649. 1
92090626650. 2
92090626651. 3
92090626652. 4

Question Number : 63 Question Id : 9209066742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FiY A Tag W e T I B3 U S & feorg Ffaiad 7 9 feges Iudn farar S g2

(1) WR® "8ee (2) HgP gee
(3) dRT9IeEIEe (4) OreREY IapEs
Options :

92090626649. 1
92090626650. 2
92090626651. 3
92090626652. 4



Question Number : 64 Question Id : 9209066743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List T with List IT :

List I Last II
(A) Green ()  Ammonium Sulphide
(B) Brown (I) Ferrie MNitrate
(C)  Antique green (III) Cupric Nitrate
(D) Black (IV) Copper Sulphate 15% and Ammonium

Chloride 85%

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(I11), (C)-(IV), (D)-(I)
(2) (A)-(IV), (B)-(T), (C)-(I1I), (D)-(1I)
{3) (A)-(T), (B)-(I1I), (C)-(I1IT), (D)-(IV)
(4) (A)-(III), (B)-(II), (C)-(IV), (D)-(I)

Options :

92090626653. 1

92090626654. 2

92090626655. 3
92090626656. 4

Question Number : 64 Question Id : 9209066743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il | & |1y gl 1| BT HaE Hifeg

- Tt -l
(A) B (1)  SHEIHTH SehEs
(B) 3 () R® dEce
(€ YRIH/SUfEEd 8 () YU Agee
(D) Il (V) HR A (15%) 3R
HTTA FTRSS (85%)
+td feu v fawedl & 9 Tel I &1 994 DI
(1) (A=), (B)-(1), (C)-(11), (D)-(11)
(2)  (A)-(1), (B)-(I), (C)-(11), (D)-(11)
(3)  (A)-(1), (B)-(IN), (C)-(I1), (D)-(11)
(4)  (A)-(1), (B)-(I1), (C)-(I1), (D)-(11)
Options :

92090626653. 1
92090626654. 2
92090626655. 3
92090626656. 4

Question Number : 65 Question Id : 9209066744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Muradabad, Uttar Pradesh 1s renowned for -

(1) Stone Carving (2) Glass Industry
(3) Metal Casting (4) Wood Carving
Options :

92090626657. 1
92090626658. 2
92090626659. 3
92090626660. 4

Question Number : 65 Question Id : 9209066744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) UER IDIvEA (2) & I
(3) g IebivA (4) DI IJahIvHA
Options :

92090626657. 1
92090626658. 2
92090626659. 3
92090626660. 4

Question Number : 66 Question Id : 9209066745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Investment Mold for Lost Wax metal casting is made from :

(1) Plaster of paris and silica (2) Grog and plaster of paris
(3) Cement and plaster of paris (4) French chalk and plaster of paris
Options :

92090626661. 1
92090626662. 2
92090626663. 3
92090626664. 4

Question Number : 66 Question Id : 9209066745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A T 1 galls & fo1d (a4 |ian fbad a1 oIl 62

(1) TR 3% IR R fifera (2) UHYRIHT 3R @R A6 URY
(3) WiHe 3N WRex 36 U™ (4) TRIER 9T/afSar Y WRe 3% 9iE
Options :

92090626661. 1
92090626662. 2
92090626663. 3
92090626664. 4

Question Number : 67 Question Id : 9209066746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 13 labelled as Assertion (A) and the other 15 labelled as
Reason (R) :

Assertion (A):  While creating a hollow metal sculpture by lost wax process of metal

casting core pins are required.

Reasons (R) : While dewaxing process, core pins keep inner core at its place in

Investment mould.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) {A) 15 false but (R) 15 true
Options :

92090626665. 1
92090626666. 2
92090626667. 3
92090626668. 4

Question Number : 67 Question Id : 9209066746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

91 @ YA 3T MU § UF EYT (Assertion A) F FT  H farfaad & @ g0 ITF SR
(Reason R}aﬁ_m ff;

HUBYA A - U] TaTs B I AF UihaT gR1 ErEd o1g gidRied §91d 990 SR O &1

L&l il &

PRUIR - e &t ufhar & 99y A9y 9 § R U4 el &R & 396

T8 TR &H1U TEdl g

IR HYF & 3aw H, 413U 70 fadel 7 8 Jad Iugad I &1 9949 HifSU

(1)
(2)
(3)
(4)

A 3R R ST HEl § SR R, A DT HE! S §

A 3R R GHI Hel §, Afd R, A DI el A AT ©
AYEIE APIR TG T8I &

A8l el €, AfFT R ST &

Options :



92090626665. 1
92090626666. 2
92090626667. 3
92090626668. 4

Question Number : 68 Question Id : 9209066747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the materials which are used for creating sculptures through lost wax process.
(A)  DBrass

(B) Copper

(C) Gun metal

(D) Aluminum

(E) Bronze

Choose the correct answer from the options given below :

(1) (A), (C), (D), (E) only (2) (A), (B), (C), (D) only
(3 (A), (B), (D), (E) only (4) (A), (E), (D), (B) only
Options :

92090626669. 1
92090626670. 2
92090626671. 3
92090626672. 4

Question Number : 68 Question Id : 9209066747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o O ufhan & Areny ¥ AfdRred Ao & e Iudin & a5 SFdre il S 9419
Hifor|

A, Urdd

B. didl

C. THHcd

D. Scgfnfgn

E. &I

< fg 7T¢ faeseut # 9 wel IR &1 99 Hifoe -
(1) &dd A, B D,E

(2) $dd A, B,C,D

(3) dd A, B,DE

(4) &dd A E D,B

Options :

92090626669. 1
92090626670. 2
92090626671. 3
92090626672. 4

Question Number : 69 Question Id : 9209066748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of loat wax process of metal cating,
(A) Create an investment mold.
(B) Dewax the investment mold through firing.
() Create a wax model through direct or indirect method.
(I Pour he molten metal into the investment mould.

(E) Apply core pins to the wax model and then attach runner and riser to the wax model.

Choose the correct answer from the options given below :

(1)  (B), (C). (D), (E), (A) (2)  (C), (E), (A), (B), (D)
B3 (A, (D), (C), (B), (E) (4) (E) (D), (A). (B). (C)

Options :



92090626673. 1
92090626674. 2
92090626675. 3
92090626676. 4

Question Number : 69 Question Id : 9209066748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIq P TaTs B qd HIH UThaT &1 9l HH g
A.  UF a9 giEr =
B. WsdaH & HiegH ¥ Fdw 9id &1 Ffdiea &
C. Yy ul sy fafd ¥ ue Am Shan/mfasy g
D. 3w 4 ¥ et g3 urg STe
E. #W & ufaeyd # SR O @11 iR R 7 & ufoRed 9§ TR SR ASoR &1 Sigl
9 fau v fawedl § & el IR & T S

(1) B,C,D,EA
() CEABD
3 ADCBE
4 EDABC

Options :

92090626673. 1
92090626674. 2
92090626675. 3
92090626676. 4

Question Number : 70 Question Id : 9209066749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

Lisat [ List I1
(A) Patina (I)  Refractory material
(B) Investment mould (IT)  Air vent
(C) Riser {IIT) Oxidation reaction
(D) Runner (IV) Main channel for molten metal

Choose the correct answer from the options given below:

(1} (A)-(I), (B)-(I1I), (C)-(IV), (D)-(1I)
2y (A)-ID, (B)-(D), (C)-(1LI), (I)-(IV)
(3) (A)-(IV), (B)-(IT), (C)-(11I), (D)-(I)
(4) (A, (B)-1@), (C)-(ID), (D)-(IV)

Options :

92090626677. 1
92090626678. 2
92090626679. 3
92090626680. 4

Question Number : 70 Question Id : 9209066749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | 3 |y g | @ e St

gil-| gdt -
n) B () e anEh
@® FAamrE () argHAfRTE
(€ IR (i SMTeRITRROT 3iffehar
(D) IW (v) ot urg & foe
+ra feu e fasedi © 9 95l IR &1 984 Fifoe:

(1) (A)-(1), (B)-(D), (©)-(1V), (D)-(IN)
(2) (A)-(1), (B)-(1), (C)-(IN), (D)-(IV)
(3) (A)-(IV), (B)-(II), (C)-(1h), (D)-(1)
(4) (A)-(), (B)-(N), (C)-(1), (D)-(1IV)

Options :
92090626677. 1
92090626678. 2



92090626679. 3
92090626680. 4

Question Number : 71 Question Id : 9209066750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In CO: sand casting process which chemical 15 used as a blinder for sand ?

(1) Sodium Carbonate 2) Sodium Chlorde
(3) Sodium Nitrate (4) Sodium Silicate
Options :

92090626681. 1
92090626682. 2
92090626683. 3
92090626684. 4

Question Number : 71 Question Id : 9209066750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTa SIS HIGSS (CO2) TI9, aals Uiehdl | dIq DI wile 1@ & ol e THG ST SUIRT
feaT i 82

(1) OIfsgq FEHe (2) HIfSTH FTERES
3) wHfggH e 4) wifsgn ffade
Options :

92090626681. 1
92090626682. 2
92090626683. 3
92090626684. 4

Question Number : 72 Question Id : 9209066751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 : Through lost wax metal casting, a sculptor can create hollow or solid cast.

Statement 11 : Through direct wax modeling, a sculptor can cast soil as well as hollow

metal sculpture.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement 11 are false
(3) Statement [ 15 true but statement IT 1s false
(4) Statement [ 15 falze but statement IT 15 true

Options :

92090626685. 1

92090626686. 2

92090626687. 3
92090626688. 4

Question Number : 72 Question Id : 9209066751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RAJ YA R E:
®YF | - qd A YT eals & A1 I, U JfabR GRadl d1 319 g a1 &1 9adl g

FYF Il - WY T Wiy ¥, TE JfdeR 3149 & 1Y 1Y Grgal urg Jfdied &1 g o
CRIR G

I HY & Maid | A fGu 0 faweai 4 9 9el Il 994 Sifou

M) HYF IR IS T §

2)  ®YTI 3R I SH A §

(3) Y| A B, Alh HYA 1| 3T &
(4) HYF| A g, Alh Y11 T 8

Options :

92090626685. 1
92090626686. 2
92090626687. 3
92090626688. 4



Question Number : 73 Question Id : 9209066752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of Biseuit (Bisque) firing a stoneware pot.
(A)  Placed the dried pot into the kiln.

(B) Slowly raise the temperature to mature the clay and make 1t hard.
(C) Aar dry the pot.

(D) Let the temperature decrease.

(E) Close and seal the kiln.

Choose the correct answer from the options given below :

(1)  (B) (C). (A), (E), () (2) (E), (C), (A), (B). (D)
(3) (A (C), (E), (D), (B) (4)  (C), (A), (E), (B), (D)

Options :

92090626689. 1
92090626690. 2
92090626691. 3
92090626692. 4

Question Number : 73 Question Id : 9209066752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el TR - IS & fafere (vm) Usaad & Ul & &1 994 $iferg|

A, &b Ui B 2l H @

B. A& uftus & 3R FER §9F & forw fR-4R arowE =1 agran
C. Wiz @l gardgEen

D. dAUHA S FHEA S

E. MZIDIggdal

2 fau v fasedi ¥ 9§ Wl IR &1 T Hifo

(1) B.CAED
(2) ELCABD
3y A CEDB
4 CAEBD
Options :
92090626689. 1
92090626690. 2

92090626691. 3
92090626692. 4

Question Number : 74 Question Id : 9209066753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the temperature range of firing Porcelain?

(1) 1000°C — 1050°C (2y  1080°C —1180°C
(3) 1200°C — 1250°C {4y 1280°C — 1300°C
Options :

92090626693. 1
92090626694. 2
92090626695. 3
92090626696. 4

Question Number : 74 Question Id : 9209066753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) 1000 °C — 1050 °C (2) 1080°C-1180°C
(3) 1200 °C — 1250 °C (4) 1280°C-1300°C
Options :

92090626693. 1
92090626694. 2
92090626695. 3
92090626696. 4

Question Number : 75 Question Id : 9209066754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What temperature range is required in Raku Technique?

(1) 500°C — 600°C {2y 600°C - 700°C

(3 750°C — 1000°C (4) 1250°C — 1280°C

Options :

92090626697. 1
92090626698. 2
92090626699. 3
92090626700. 4

Question Number : 75 Question Id : 9209066754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG a1 § by dgar I (<) S Saggdhdl gl 82

(1) 500 °C — 600 °C (2) ©00°C-700°C
(3) 750 °C — 1000 °C (4) 1250°C-1280°C
Options :

92090626697. 1
92090626698. 2
92090626699. 3
92090626700. 4

Question Number : 76 Question Id : 9209066755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : Glazes are fused on to or into the article by the action of heat.

Statement 11 : Glazes are only used to cover ceramic forms to make them imperishable.
In the light of the above Statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement I and Statement IT are false

(3 Statement [ is true but statement 1T 15 falze

(4) Statement [ 1s false but statement 1T 18 true
Options :

92090626701. 1
92090626702. 2
92090626703. 3
92090626704. 4

Question Number : 76 Question Id : 9209066755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R APy RUME:
DY | - HH D1 o A 3% T 91 9% W IS Did B GHibd F g1 o1 8
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I HYA & 3fdld |, g fGu 0 fadedi # 9 Hel Iaid] 994 $ifei

()  HYF MR NTATITE
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3) BYT 19 g, e BYT 1 3T §
(4) HYTI T G, AhT FUT I T8
Options :
92090626701. 1
92090626702. 2

92090626703. 3
92090626704. 4



Question Number : 77 Question Id : 9209066756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the artists who are recognized for their artworks in ceramics :
(A) G. Raghu
(B) V. Nagdas
() P R. Daroz
(D} Vipul Kumar

(E) Ira Chaudhry

Choose the correct answer from the options given below :

(1) (A), (C), (D), (E) only (2) (B), (C), (E), (A) only
(3 (D}, (B), (E), (C) only (4) (A), (B), (C), (D) only

Options :

92090626705. 1
92090626706. 2
92090626707. 3
92090626708. 4

Question Number : 77 Question Id : 9209066756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. dlATCH
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(1) &dd A CD,E

(2) $dd B CEA

(3) dd D,B,EC

(4) dd A B, CD

Options :

92090626705. 1
92090626706. 2
92090626707. 3
92090626708. 4

Question Number : 78 Question Id : 9209066757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

Liat T Last 11
(A) Raku (I} Glazing done with fermented mixture
(B) Burnishing (I} Glazing done by using lovwr
temperature glaze and saw dust
(Cy Obvava (III} Glassy materials used to cover ceramic
forms
Dy Glazes (IV) Rubbing surface of leather hard eclay

until it becomes smooth and shiny.

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(D), (C)-(11D), (D)-(1I)
(2) (A)-(I1I), (B)-(1T), (C)-(IV}), (D)-(D)
(3) (A)-(1), (B)-(I11), (C)-(IV), (D)-(1IL)
(4) (A)-(IT), (B)-(IV), (C)-(I), (D)-(11L)

Options :

92090626709. 1
92090626710. 2
92090626711. 3
92090626712 4

Question Number : 78 Question Id : 9209066757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(IV), (B)-(1), (C)-(ln), (D)-(1)
(2) (A)-(ll), (B)-(n, (C)-(1V), (D)-(1)
(3) (A)-(1), (B)-(111), (C)-(1V), (D)-(1)
(4) (A)-(11), (B)-(IV), (C)-(1), (D)-(li)

Options :

92090626709. 1
92090626710. 2
92090626711. 3
92090626712 4

Question Number : 79 Question Id : 9209066758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One 18 labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Agsertion (A) : During reduction firing, the output of glazing comes out to be earthy, due to
the lack of oxygen inside the kiln.

Reasons (R) : In the absence of sufficient amount of oxygen inside the kiln, the oxygen
molecules difussed in the glazes are used up, henceforth, the resulting
glazes are due in earthy.

In the light of the above Statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
() (A) 12 true but (R) is false

(4) (A) 15 false but (R) 1s true

Options :

92090626713. 1
92090626714. 2
92090626715. 3
92090626716. 4

Question Number : 79 Question Id : 9209066758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 31 HuA 2T MU § U SHHDBUA (Assertion A) B FU  H foif@d & O gERT 3D HRU
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HRUIR wel # oo &t i JE o q, 99F/Hd H FHIRd
TR & U] IUGRT 1R TeH 81 9lld ¢ | URUMHRGEY 9H& Hifde 3R
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20 ASRRIAIGEE AfFAR AP IS ARG AT @
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(4) ARG APTRUEE

Options :
92090626713. 1



92090626714. 2
92090626715. 3
92090626716. 4

Question Number : 80 Question Id : 9209066759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which among the following are associated with ceramics 7

(1) Gel coat and joints (2) Electroplating and coating

(3 Obvara and Raku (4) Patination and Enameling

Options :

92090626717. 1
92090626718. 2
92090626719. 3
92090626720. 4

Question Number : 80 Question Id : 9209066759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa # 8 o1 Rfaed g 3 wes B

(1) Sd-ay iR /e (2) fagga-auA ofR @y
(3)  Sfigamr 3R IH (4) TTs/SH THAT 3R HATBRY/HTEHTE

Options :

92090626717. 1
92090626718. 2
92090626719. 3
92090626720. 4

Question Number : 81 Question Id : 9209066760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of rubbing the surface of leather-hard clay until it becomes shiny and smooth to

touch 1=

(1) Sanding (2) Burnishing
(3 Peeling (4) Glazing



Options :

92090626721. 1
92090626722. 2
92090626723. 3
92090626724. 4

Question Number : 81 Question Id : 9209066760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS B Hag ®I HBR Hel ad ad Uu4 Hi Ulehdl, 9d a & ag Iudial IR &P 9 8
WG, %] 1 $8d 87

(1) 37 Qi) (2) SR @S Tdg F99)
(3) U (3FTgad) (4) TS (@ifed s

Options :

92090626721. 1
92090626722. 2
92090626723. 3
92090626724. 4

Question Number : 82 Question Id : 9209066761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 : An electric current passing through a consumable electrode touches the
parent metal to melt and join is called TIG welding.

Statement 11 : An electric current passing through a consumable electrode touches the
parent metal to melt and join is called Arc welding,

In the hight of the above Statements, choose the correct answer from the options given below :

(1) Both Statement 1 and Statement 11 are true
(2) Both Statement I and Statement IT are false
(3} Statement I 15 true but statement IT 13 false

(4) Statement I is false but statement II is true

Options :

92090626725. 1
92090626726. 2
92090626727 3



92090626728. 4

Question Number : 82 Question Id : 9209066761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAFERTMTE:
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(3) YT HAE, Al HYT 1 I T
(4) HUYTI AT g, AT BUT 1 TA B

Options :

92090626725. 1
92090626726. 2
92090626727. 3
92090626728. 4

Question Number : 83 Question Id : 9209066762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which gas is used in TIG welding?

(1) Oxygen (2)  Argon
(3) Blutane (4) Propane
Options :

92090626729. 1
92090626730. 2
92090626731. 3
92090626732. 4

Question Number : 83 Question Id : 9209066762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

& sz o, Al # v 9 &1 yd grar 22

(1) e (2) 3
(3) oA (4) U
Options :

92090626729. 1
92090626730. 2
92090626731. 3
92090626732. 4

Question Number : 84 Question Id : 9209066763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of MIG welding?

(1) Metal-Infused-Gas (2)  Minimal-Infused-Gas
(] Minimal-Inert-Gas (4) Metal-Inert-Gas
Options :

92090626733. 1
92090626734. 2
92090626735. 3
92090626736. 4

Question Number : 84 Question Id : 9209066763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH.3M13. 51 AfesT &1 Q1 1 &1 87

(1) Aed -3 - T (2 ffme - s -
3 fRmE-s-19 (4) Wea-3I¢ -
Options :

92090626733. 1
92090626734. 2
92090626735. 3
92090626736. 4



Question Number : 85 Question Id : 9209066764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of executing Arc Welding :
(A) Set up the Arc Welding machine attach the earth wire to the piece to be welded.
(B) Remove the rust from the surface which needs to be welded.
(C) Grind out the excessive metal for finished surface.
() Use the electrode to weld.

(E) Remove the deposited flux.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E) (2) (B), (A), (D), (E), (C)
(3) (C), (E), (D), (B), (A) (4) (D), (E), (A), (B), ()

Options :

92090626737. 1
92090626738. 2
92090626739. 3
92090626740. 4

Question Number : 85 Question Id : 9209066764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ABCD,E
20 B,ADEC
3) CED,BA
4 D,EABC

Options :

92090626737. 1
92090626738. 2
92090626739. 3
92090626740. 4

Question Number : 86 Question Id : 9209066765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following can be used as an alternative gas for acetylene in oxy-acetylene
welding ?

(1) Nitrogen (2} Lithium
(3 Liguid Petroleum Gas (4) Carbon Mono-Oxide
Options :

92090626741. 1
92090626742. 2
92090626743. 3
92090626744. 4

Question Number : 86 Question Id : 9209066765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  IEgIeH 2) feafaw
(3) oxa Ueifaan g (4) B A RS

Options :

92090626741. 1
92090626742. 2
92090626743. 3
92090626744. 4

Question Number : 87 Question Id : 9209066766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 15 labelled as Assertion (A) and the other 15 labelled as
Reason (R) :

Assertion (4) : It 18 difficult to create a sculpture by welding aluminium and bronze
together.
Reasons (R) - Aluminium and Bronze cannot be welded together due to high variation in

their melting points.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) 15 true but (R) is false

(4) (A) 18 falze but (R) 18 true

Options :

92090626745. 1
92090626746. 2
92090626747. 3
92090626748. 4

Question Number : 87 Question Id : 9209066766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626745. 1
92090626746. 2
92090626747 3
92090626748. 4

Question Number : 88 Question Id : 9209066767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is known for creating sculpture using metal fabrication techmque ?

(1) Himmat Shah {2) Bharti Kher
{3 Manjunath Kamath (4) Balan Namhar
Options :

92090626749. 1
92090626750. 2
92090626751. 3
92090626752. 4

Question Number : 88 Question Id : 9209066767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626749. 1
92090626750. 2
92090626751. 3
92090626752. 4

Question Number : 89 Question Id : 9209066768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 ; The process of heating metal to dull red colour and then allow the piece to
cool immediately 1s ealled Annealing.

Statement 11 : The process of heating metal to dull red and then allowing the piece to cool
slowly 1s called Annealing.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 1T are false
(3 Statement [ is true but statement 11 15 false

(4) Statement [ 15 false but statement 11 1s true

Options :

92090626753. 1
92090626754. 2
92090626755. 3
92090626756. 4

Question Number : 89 Question Id : 9209066768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626753. 1
92090626754. 2
92090626755. 3
92090626756. 4

Question Number : 90 Question Id : 9209066769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the main material used in Repousse technique ?

(1) Metal wire (2) Metal ingots
(3) Metal sheet (4)  Molten metal
Options :

92090626757. 1
92090626758. 2
92090626759. 3
92090626760. 4

Question Number : 90 Question Id : 9209066769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RaT3 (qeiieyya/a1d &1 HM) dh-iie | f6g I Gl &1 398 gidl 82

(1) UIgPIdR 2) urg @ Rfcear
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Options :

92090626757. 1
92090626758. 2
92090626759. 3
92090626760. 4

Question Number : 91 Question Id : 9209066770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following tools is used in Repousse technique?

(1) Ripsaw (2) Hammer
(3 Gauge {4y Wire tool
Options :

92090626761. 1
92090626762. 2
92090626763. 3
92090626764. 4

Question Number : 91 Question Id : 9209066770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy awdie | Ffalaa § 9§ f6 SR &1 SUghT 811 87

(1) 3ST AR (o) (2) B
(3)  UHI (7ie) (4) TR & 3SR
Options :

92090626761. 1
92090626762. 2
92090626763. 3
92090626764. 4

Question Number : 92 Question Id : 9209066771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following sculpture created by Gianlorenze Bernim 1s known for the use of
bronze, marble and other materials?

(1) David (2) FEcstasy of 5t. Theresa
(3) Rape of Proserpina (4)  Apollo and Daphne
Options :

92090626765. 1
92090626766. 2
92090626767. 3
92090626768. 4

Question Number : 92 Question Id : 9209066771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(3) YU 3B YrERUEr (4) Ul T8 %A
Options :

92090626765. 1
92090626766. 2
92090626767. 3
92090626768. 4

Question Number : 93 Question Id : 9209066772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement 1 : When a sculptute is created by uniting more than one medium, it is called
Mixed Media Sculpture.

Statement 1T : When a sculpute is created by repeatedly using a single unit, then it is
called Mixed Media Sculpture.

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3 Statement [ 15 true but statement 1T 15 false

(4) Statement [ is false but statement I is true

Options :

92090626769. 1
92090626770. 2
92090626771. 3
92090626772. 4

Question Number : 93 Question Id : 9209066772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626769. 1
92090626770. 2
92090626771. 3
92090626772. 4



Question Number : 94 Question Id : 9209066773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the surrealistic artist who has created the Lobster Telephone?

(1) Marcel Duchamp (2) Salvador Dah
(3 Pahlo Picasso (4) Robert Smithson
Options :

92090626773. 1
92090626774. 2
92090626775. 3
92090626776. 4

Question Number : 94 Question Id : 9209066773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626773. 1
92090626774. 2
92090626775. 3
92090626776. 4

Question Number : 95 Question Id : 9209066774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 : If a seulpture is also working as a fountain, then that can be categorized as

a Functional sculpture.

Statement 11 : Sculptures assembled with only ready made items are also known as

Funectional sculpture

In the light of the above Statements, choose the most appropriate answer from the options

given below :

(4)

Both Statement I and Statement 11 are true
Both Statement I and Statement I1 are false
Statement [ 15 true but statement 1T 15 false

Statement [ 1s false but statement I1 18 true

Options :

92090626777. 1
92090626778. 2
92090626779. 3
92090626780. 4

Question Number : 95 Question Id : 9209066774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626777. 1
92090626778. 2
92090626779. 3



92090626780. 4

Question Number : 96 Question Id : 9209066775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kinetic sculpture titled ‘Bieyele Wheel has been created by

(1) George Rickey (2) Marcel Duchamp
(3) Nuam Gabo (4) Alexander Calder
Options :

92090626781. 1
92090626782. 2
92090626783. 3
92090626784. 4

Question Number : 96 Question Id : 9209066775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626781. 1
92090626782. 2
92090626783. 3
92090626784. 4

Question Number : 97 Question Id : 9209066776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sculptor Alexander Calder has created the sculture titled

(1) Mobile (2) Standing Wave
)] Light Space Modulator (4) Fountain
Options :

92090626785. 1
92090626786. 2



92090626787. 3
92090626788. 4

Question Number : 97 Question Id : 9209066776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626785. 1
92090626786. 2
92090626787. 3
92090626788. 4

Question Number : 98 Question Id : 9209066777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following bears influence of Indian Classical Sculpture in his art works ?

(1) Sudharshan Shetty (2) Thakural and Tagra
(3 L.N. Tallur (4) Subodh Karekar
Options :

92090626789. 1
92090626790. 2
92090626791. 3
92090626792. 4

Question Number : 98 Question Id : 9209066777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626789. 1



92090626790. 2
92090626791. 3
92090626792. 4

Question Number : 99 Question Id : 9209066778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has created the sculpture titled ‘For the love of God™?

(1) L.N. Tallur (2) Damien thirst
(3) Subodh Gupta (4) Sudarshan Shetty
Options :

92090626793. 1
92090626794. 2
92090626795. 3
92090626796. 4

Question Number : 99 Question Id : 9209066778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090626793. 1
92090626794. 2
92090626795. 3
92090626796. 4

Question Number : 100 Question Id : 9209066779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following are New Media Artists?
(A)  Anish Kapoor

(B) Subodh Gupta

(C) K.8. Radhakrishnan

(18] Jeff Koons

(E) Sudarshan Shetty

Choose the correct answer from the options given below :

(1) (A). (B). (D), (E) only (2) (A), (0), (D), (E) only
(3 (A), (C), (D), (E) only (4) (A), (B), (0), (D) only
Options :

92090626797. 1
92090626798. 2
92090626799. 3
92090626800. 4

Question Number : 100 Question Id : 9209066779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090626797. 1
92090626798. 2



92090626799. 3
92090626800. 4



